ROBE  Math 1530                                                                    Fall 2007 
 
Mean and Standard Deviation on the Sharp EL-506W
 
This is a keystroke-by-keystroke description of how to compute mean and standard deviation of a data set on the Sharp EL-506W.  Boxes       ON/C  are buttons to press.
[                            ]  are displays on the calculator screen.  This calculator is fairly user-friendly, with displays pretty clear about indicating what you are looking at.
 
 ON/C          ( gray button with orange letters, upper RH corner ) turns the calculator on.
 
 MODE        just below the ON key
 
 1                for statistics
 
 0                for SD (standard deviation) – this is where we do chapter 2’s statistics.
 
The calculator is now ready to compute statistics of one variable.
 
Our example data set is Mark McGwire’s year-by-year home runs totals for the years 1987 - 1998 :
 
          49      32      33      39      22      42      9        9        39      52      58      70
 
To ENTER those numbers ( the data ) into the calculator:
 
  4        9     shows         [                            49 ] 
 
  M+            A small dark gray button just above the light gray operation buttons gets
 
[ DATA SET =                 1 ].  The calculator has stored a piece of data.
 
  3        2     shows         [                            32 ].
 
  M+            [ DATA SET =                          2 ].   The calculator now has two pieces of 
                   data:  49 stored as one piece of information, and 32 stored as another.
 
Suppose you have several pieces of data that have the same value – you notice that 39 is in our data set 2 times.  They can be entered at the same time:
 
Put in the 39.          3        9               [                            39 ]
 
Then    STO   (just beside the   M+    key) gets             [39,                       ]
 
The calculator is then waiting for you to tell it how many 39’s.  So you
 
  2      [17,                       2]
 
  M+     [DATA SET =               3]       because we have entered data three times.
 
  RCL            0      gets [n =                         4] because there are a total of 4 actual 
pieces of data
 
If you want to SEE what you have entered – the up arrow    ▲  and down arrow    ▼    
(near the screen – buttons are actually curved) will scroll through the data entries:
 
  ▲  gets    [ N3 =                             2]       because we entered 2 of the third piece of data
 
  ▲  again gets [X3 =              39]     because the we entered 39 as the third data value.
 
If you keep scrolling up (or down), you will see the other data values that were entered, with N# = 1 in places where we entered a value directly with the  M+    key
 
To ERASE bad data:
 
Scroll with the arrow keys up or down to the number that is wrong.  Then
 
  2nd      (orange key in upper LH corner)
 
  M+   CD      gets   [DATA SET =                  one less than before]     because the item selected has been erased from the list of data.
 
All the calculator does on its own is keep a list of numbers.  If we finish entering the data set as given - we can then ask the calculator to make several different computations with the data.  The two of interest to us just now are mean and standard deviation.
 
Observe the    RCL  key.    RCL          ?      gets the calculator to do what is in fine green print above and to the right of       ?  . 
 
  RCL            4      gets   [ x-bar  =             37.83333333].  The yearly average number of home runs that Mark McGwire had hit (to 1998 )... was 37.83.
 
  RCL            5        gets     [ Sx =                18.48258804].
The standard deviation of Mark McGwire’s yearly home run totals is s = 18.48.
 
We use s for the standard deviation of an actual data set of a single variable.  ‘Sx’ is because later we look at data sets with two variables at once, distinguished as x’s and y’s.
 
          As exercises, to verify that you are computing correctly, look at the textbook’s examples where x-bar and s are given and compute them yourself with the calculator.
 
